Lk W5
Lk W6
X =4602273,3274 . L@mwm% csac
Y =5904466,8461 : Lk WS _|
u Y =5904459,8222 _
R=500,00 m £ e Ak X=4602530,4711
0=2,6434 st. Wil G caois _ Y =5904459,5426
. 0.=4,6023 st, A =4602438,6259 R=125,00
L=adim 1.=56,23 m Y =5904455,0535 B ot
om0 e £=64,80 m Blan
| T=32,42m o
— — 2.t /0 .
| | .mr.u,qm . poszerz, 2*0,25m
8/ 1=2%2% L Iwe:._u
klat, T
‘u RIVa «149,9 PsV %
| 23 "147,4 .
S N s : \ ,
.W % RIV .147,7 147,3 ,., = - a7 _a ¥
) I,
- ) 7 > 150,4 <
“ 1522 . A
_W, = *148,8 oS =\R o
151, < Wf _Uﬂ 2 .
TTTTT T . hy H.__W 3 ___lr
- .150,2 AN 194 T_NM 290 | o <2 n.
= >
e T - Vg Ll > M = \1\\\\. \ z
lullillll. ________.___?_ L! el —
= e il rg R v\\ %/ h.i
.............. =R wm 148 . EN
: Ty " 47,7 w147 e 1474 s
: L 467 5\ W 14so¥
..ﬂ.... L' TTT™ e Mo e
Lk W4 0 151, - ! . 103 2 : | g v q
ABLIE L, lcen 130 .150,1 o TP —r-sse - . aaf0 e A =T T "o
5904474,1234 LR _ . P oamee o e o Lo sen— — S S Y
o ﬁ.AWH\m : T T L L T TN T L T I L R _._..., 143,4
6.6479 st. J ﬁ_ : T S — 09
46,41 m 3 S 1478 «147,0 q
MW;M@ 1m 154 "ol « 1477
0,67 m - oc PSIV - 1510 99 L aes . !
kY0, 1522 2150,6 147.7 47 148.6
L Y «147.8
J44,2
. PsIV Vﬁ ;
4
142 143 RIVa
1513 : / 1482
- 151,1 u ‘ ,147.9 -H%H. a \ _
150,8 150,32 149.4 .148,0 ;
\ N / F I




